Name:_ S/ 55770

Date:

NV Calculus - Pquiz, Chapter 3.1-3.4: Derivatives

Ond the derivatives of the following functions (5 pts.)

1. f(x) = x*
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3.y=4x3+2

4. f(x) = 5x3 - 4x? +2x - 1
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11. (10pts)Use the definition man = lim &E‘;@ to determine the slope of the tangent line for

f(x) = x? +8x where a = 2. Show all your work!
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12. 10pts) Given f(x) = 3x? - 4 and a = 1, Use the definition man = }ll_rgw to find the slope of the tangent line
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13. 10pts) Given the function f(x) = x3 - 3x? -9x +6
a) find the equation of the line tangent to the curve at x = 1

b) find the x coordinates where the slope of the tangent lines are zero
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14. 10pts)The height of an object is given by the equation h(t) = 630 +80t - 1612 where y is position in feet and t is
time in seconds
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d) what is the acceleration of the object? 4 £)= B o /f =

15. 10pts) The cost, in dollars, to produce x widgets is given by
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a) find an equation for the marginal cost, MC(x) d i
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b) find the marginal cost of producing 13 widgets ot 25K s e % T LT 1';‘ x ‘
c) find the actual cost to produce the 14™ widget
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